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Q1. UTHET 35,000 TUYY B R BT 50 Bt a1ffep ¥ wR 2 gf & forw = st 21 &
ad & 3fd § a8 ashqis oarel & U H fa-it i3 ure setio

(a) 3587.50 TUY

(b) 3500 ¥TY

(c) 3580.50 3T

(d) 3565.50 ¥TY

(e) 3485.7 TUY
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Q2. afe; sarsT FY &T 10% 9fa a¥ § 3R 12000 ®IT T a¥ & fAv SR Iifad g1 are
TFHIG Y Aol T FUR T M1 §1 vger a¥ & o sarer i wremor sarer #ir X e

SR g1t (afe BTROT <2ATST, Thae e SaTeT & SRIeK §)°?
(a) 10.25%

(b) 9.24%

(c) 6.26%

(d) 8.42%

(e) 12.25%
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Q3. TP NP B FHuTS TP JAfGYS YT & aivAT & R1eR 3, By o 99+ iR
T YT Pt g HUM: 6 A 3T 9 A 8. af 3 &1 = 16 Adhfte &,
<t RIP BT A fHa-T 82 (° At H) (HeTn = 22/7)

(a) 1208

(b) 1408

(c) 1610

(d) 1480

(e) 1650
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Q4. Tw FAif3a IR W g1 adf & eifSla awpafe s, Tum Wiy wr &= aut o 23% #1
R 3ffofd TR TS & SRTER 7. Tshqis ATl Bl g fhal g7

(a) 15%

(b) 25%

(c) 30%

(d) 35%

(e) 20%
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Q5. 5,000 ¥UYA BT TH AR R 4 g9 | 3rfold Tspgfs sarer fba=n g afe uga 2 auf
H ST X 10% Ufaay i 3T 29uf & fore 209 ufa af g2

(a) 2,320.50 ¥0Y

(b) 3,712 TUT

(c) 3,745 4T

(d) 2156.50 &UY

(e) T8 A B el
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Q6. fpa AR R 3 auf A 6% ufcad &1 e | sifcfa Tremur 3R Twrgfs = & &
&1 3faR 13.77 UL G

(a) 1250 4T

(b) 1320 94

(c) 1520 TTY

(d) 1150 =94

(e) 9 4 IS Tel
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Q7. T fAf¥a fr wr 2 adf # sifofa awrgfs =uTeT 60.60 TUA 3fiR TTERUT AT 60
g, ufaad saret a3 3R fR J1a B

() 2%, 1600 T

(b) 2%, 1400 ¥4I

(c) 3%, 1500 T4

(d) 2%, 1500 9T

(e) 9 4 IS Tal
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Q8. fara=it 1fr 2 aef # 690. eawﬁeﬁ’ttﬂ% THay & U aspgfs =T o 4 ufa=rd
3R R 9 & =T o 3 1, ufawra ufd adf 82

(a) 560 9T

(b) 650 TT

(c) 670 3T

(d) 580 T

(e) ITH A FIs el
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Q9. 22,500 U B} AR W 4 99 & 3fd A Afofd JTUROT =TS 10,800 . ) T & 3id
H T R IR G4 & | Srfofa ashqfs sare fora=n g

(a) 16,908 TUY

(b) 5,724 34T

(C) 28,224 3UY

(d) 8,586 3T

(e) 5424 ¥TY
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Q10. T TSP d & <R BT AT 70 AH § U ATsfha arae 22 fapet / g1 91 nfa
¥ T (¥ g8 9% ugaH | 30 °¢ T GG AdT 7. 5 AT & R Ul A fpa=
TFHT TNC?

(a) 1 ARG

(b) 3 ARG

(c) 4 ARG

(d) 5 ARd

(e) 2 A
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Q11. TP gd &I uRfY &7 3R T a7t & ufvury &1 a1 272 A & RS 8. gd o1
T 56 QUL 8. ga 3R I & &awa &1 aRT fbar 82
(a) 2464 T T}

(b) 2644 T T}
(c) 3040 T It



(d) 3080 ¥ T
(e) 3240 T It
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Q12. UH gd ®i FAAT 3R MTAPR Wd DI GaTS BT FUTd 2:7 8. Tl Ia BT 3R
gmwéamuﬂnwm: 176¥} 3R 322} 8, A SMaTaPR |d HI TSTs fha-t
?

(a) 85

(b) 63 |

(c) 58 |

(d) 77 @t

(e) 39 |
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Q13. ggl R fafira fsur arel € ga & a7t &1 e 196 a°f It 8. ot e, 58
gd @1 fear 3 el 8. B ga 1 Biun, 98 g9 9t Bsur & 3/7 3. B¢ ga 31 aikf
fora-it 82

(a) 12 7 At

(b) 16 1t I

(C) 24 1t THT

(d) 32 T I

(e) 36 AT
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Q14. TP S, TP ALFTAT 3R TP P THM SMYUR W § 3R TUH A8 & §. i
aqaﬁﬁf/maﬁ?ﬁrs‘ww% dl 9% T UY AAB BT JUTd fara-1 372
(@)2:2:V2

(b)2:V2:1

(V2 :3:1

(d)1:2:3

(e)4:2:1
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Q15. Tfe T AT R FHY & MW H 4 Hex $t 93 gl 8 O 3HST 3rquid 4: 3 81
ST € SR af 4 v Fu e fear wiTaT 8, A SHPT SUd 2: 1 S AT 8. PR &



STATH T 372

(a) 6 Hiex 3R 4 Hie?
(b) 12 Hiex 3R 8 Hiex
(c) 16 HeR 3R 12 Hiex
(d) 24 Hiex 3R 16 Hiex
() TTH | BIS T
L1Difficulty 2
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Solutions

S1. Ans.(a)
C.I. obtained by Pamela

5 2
= 35000 (1 —) -1
[ 100 l

41
=175 % Py = Rs.3587.5

Sol.
S2. Ans.(a)
Amount = 12000 (1 + i)E
100
=13230
Cl=13230— 12000 = 1230
When SI[=1230
Rate = 120 — 10,250
Sol. 12000
S3. Ans. (b)
Height of cone =2 x 6 + 9
=21 cm
i 1 5
-, Volume of cone = —mr'h
= 1><§ 8 %21
3 7
=1408 cm?
Sol.
S4. Ans. (c)
Sol.



SI=C.L

P 2
Y =
|, Px23x3 _ [51+;‘h _1}

100 . 100
- H,IE
— !1+L: =@
. 100, 100
13
100 10
= r=30%
S5. Ans.(b)

C.1.= 5000 [ 1+%)2 x(1 +%]: - 1]

— 5000 x 2226 _ pe3712
= 2500
Sol.

S6. Ans.(a)
We know that

, R* (300+R 2
Diff. = P —— ( o0 ) (for 3 years)

Px36x306
= 13.77T= —

100%100%100
= P =

1277x100%100
= P = Rs.1250

36x3206
Sol.

S7. Ans.(d)

We know that
I Z00+R
—= (for 2 years)
s 200
60.60 _ 2004+R

60 200
200(60.60—60
— R __ 200(60.60—60)

a0
= R =20
MNow, diff. =

PR*
(100)2
4

= 60.60 —60 =P X
10000

0.60x100x100

= P = f—}?s.lﬁﬂﬂ

Sol.

S8. Ans.(b)



Letthesum=x
104 _ 103.5

Alg x X — X 2 = £99.66
100 100
= x = Rs.650
Sol.
S9. Ans.(b)
10800 x 100
r=———m — M = ‘12%
22500 x 4
1247
CI = 225{}{}(1 + —) — 22500
100
112 112
= 22500 ®¥x — % —— — 22500
100 100
= 28224 — 22500 = 5724
Sol.
S10. Ans.(b)

Total distance covered by cyclist
=22 %30 =660 km
Distance covered by wheel in 1 revolution
70
=2X—xX—=220cm
7 2

~ Required number of revolutions
_ 660 X 1000 x 100

330 = 3 lakh
Sol.
S11. Ans.(c)
Let side of square is a cm
< D + 4a = 272, where D = Dia. of circle
=2 % 56+ 4a = 272
o q = 2727178
= a=24cm
~ Required sum = E D? + a*
22 1
=—X—X56 X561+ 24°
7 4
= 2464 + 576
= 3040 cm®
Sol. e

S12. Ans.(b)



Let radius of circle and length of rectangle
be 2x m and 7x m respectively.

-.-Exi—zxzx=1?ﬁ

=2x=14m
=~ length of rectangular field = 7 = 14
=98 m
Now, width of field = % _og
Sol, =03 m
S13. Ans.(c)
Let side of square is a cm.
~a*=196

= a=14cm
~ radius of larger circle = 28 cm
~ radius of smaller circle

3
=28BXx—-—=12cm
7

~. Circumference of smaller circle

=2xm=x12
Sol. = 24 mem
S14. Ans.(a)

Curved surface area of cylinder = 2 trh
Curved surface area of hemisphere = 2 nr®
Curved surface area of cone

=mrl = rvr? 4+ h?

Therefore, required ratio is

2nrh: 21 : mrvr? + h?

=2mr? : 27r? : V2 mr? (since,h = 1)

Sol. =2:2:V2

S15. Ans.(b)



Let the length and breadth of the

rectangular room be £ and b.
f+4 4
b+4 3
=3f+12=4b+ 16
=3f-4b=4 (i)
£f—4 2
=_=¢f-4=2b-8

b—4 1

= f-2b=-4..(if)

On solving (i) and (ii), we get

L=1Zmand B=8m

We have,

Again, we have

Sol



